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B.Com.(Hons.) DEGREE EXAMINATION, NOVEMBER 2015.
II YEAR — III SEMESTER
Paper IX — BUSINESS MATHEMATICS
Time : 3 hours	    Max. marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer ALL  questions 
1. Write the following sets in tabulation method.
(a) The set A of all odd natural numbers less than 10.
(b) The set D of all prime numbers between 10 and 20.
2. Write the following sets in set-builder form.
(a) The set A of all months in a year.
(b) The set B of all English alphabets.
3. Given , Find the ratio of .
4. If  = =. Show that  = 2.
5. If x varies as y and x=8, when y=15. Find x when y=10.
6. Find the 40th term of an AP whose 9th term is 465 and 20th term is 388.
7. Differentiate the following with respect to x: 
8. Differentiate the following with respect to x: 
9. Find the amount of an annuity of `2,000/- per annum for 10 years reckoning compound interest at 10% per annum.
10. Convert 250 into binary number.

SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
11. Given  that A = {0,1,3,5}  B = {1,2,4,7} C = {1,2,3,5,8}. Prove that 
(a) (A∩B)∩C=A∩(B∩C)
(b) (AB)C=A(BC).
12. Given U={1,2,3,4,5,6,7}  A={1,2,3,4,5}  B={1,3,5,7} C={2,5,6,7} Find                         (a)	AC  and	(b)	C – B
13. Given  = =  . Prove that 
14. Two numbers are in the ratio 3:4. If 6 be added to each term of the ratio then the new ratio will be 4:5. Find the numbers.
15. Find the least value of n such that the sum to n terms of the series 1+3+32+33+………exceeds 3,000.
16. Differentiate with respect to .
17. Find the maximum values of 
 (
[P.T.O.]
)
	2
	-1
	0
	5

	3
	2
	6
	-4


18. If 
                 A =


	4
	7
	1
	8

	-2
	3
	6
	5



And B=    Find 2A+3B and 3A-2B.


SECTION C — (2 × 15 = 30 marks)
Q.No. 19 is compulsory and any ONE from the rest of two questions.
Part A (Compulsory)
19. In a city three daily newspapers A,B,C are published; 42% of the people in that city read A; 51% read B; 68% read ; 30% read both A& B; 28% read B&C; 36% read both A&C; 8% do not read any of the three newspapers. Find the percentage of persons who read all the three papers?
Part B (Any one)
20. The total profit y in rupees of a drug company from the manufacture  & sale of x drug bottles is given by 
y =  .                                     
(a) How many drug bottles must the company sell to achieve the maximum profit?
(b) What is the profit per drug bottle when this maximum is achieved?  
(Or)
21. [bookmark: _GoBack]An agent receives a fixed salary and a commission on orders booked. In 2 successive months he obtained orders to the value of `35,000 & `50,000 respectively and received `2,800 & `3,400 including his commission  & salary. Find the rate of commission & his fixed salary.
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